

D.A.V. PUBLIC SCHOOL, CHANDRASEKHARPUR, BHUBANESWAR-21 SCHEDULE FOR ISSUE OF TEXT BOOKS TO CLASS XI (INTERNAL STUDENTS) FOR THE SESSION 2020-21

Dates	Classes	Cost of set	Time Slot
18.06.2020	XI Science (Biology) as per provisional admission	1330	10.30 a.m. to 11.30 a.m.
18.06.2020	XI Science (Phy. Edn.) as per provisional admission	1330	11.30 a.m. to 12.30 p.m.
18.06.2020	XI Science (Comp. Sc.) as per provisional admission	1330	12.30 p.m. to 1.30 p.m.
18.06.2020	XI Science (Economics) as per provisional admission	1330	1.30 p.m. to 2.00 p.m.
18.06.2020	XI Commerce as per provisional admission	1035	3.00 p.m. to 4.00 p.m.
18.06.2020	XI Humanities as per provisional admission	1035	3.00 p.m. to 4.00 p.m.

Parents are required to pay the charges of text books and note books through online and produce the copy of e-payment receipt at the Books Counter (Campus-I) for smooth issue of Books. All the parents are requested to wear mask while coming to collect the text books and maintain social distancing in the school premises in the interest of the Community. Students are not allowed to come for Text Books. In case any parent is unable to get the print out of e-receipt, he/she should contact to the Books In-charge to get the print out of e-receipt.

IMPORTANT POINTS TO BE FOLLOWED:

Please follow the following principles while collecting the text books.

- 1. Please carry the **Identity Card** of your child and a **Carry Bag** for taking the Books.
- 2. Please put your mask.
- 3. Wash your hand using the sanitizer provided by the school near the security point.
- 4. Seat on the chair arranged for you in the campus.
- 5. Do not move towards the counter unless your front seat is vacant.
- 6. After collecting the text books please leave the campus immediately.

Help us in implementing the Covid-19 guidelines.

Went 17610

PRINCIPAL

	DAV PUBLIC SCHOOL CHAND	ORASEKH	ARPUR, BHUBA	NESWAR
	BOOKS & NOTEBOOKS LIST	FOR ST	D. XI-SCIENCE (20	20-21)
NAM	ME OF STUDENT:	12	SCHOOL No.	
SL	NOTE BOOKS	Qty	PRICE/UNIT	AMOUNT
1	Long Plain Copy [100p]	10	23.00	230.00
2	Long Ruled Copy [100p]	20	23.00	460.00
3	Diary	. 1	55.00	55.00
4	Assignment Copy	4	25.00	100.00
5	SUPW Activity Copy	3	15.00	45.00
6	Graph Copy	2	15.00	30.00
7	Practial Record [Phy, Chem, Math]	3	45.00	135.00
8	D.A.V. United Magazine	1	275.00	275.00
	TOTAL-			1330.00
SI	OTHER BOOKS	PUBLICATION		AMOUNT
1	Hornbil [English]	NCERT		
2	Snap Shot [English]	NCERT		
3	Physics Part -I	NCERT		
4	Physics Part -II	NCERT		
5	Chemistry Part-I	NCERT		
6	Chemistry Part-II	NCERT		
7	Mathematics	NCERT		
8	Biology NCERT			
9	Record [Biology]			
10	Record [Computer Science]	DAV		
11	Computer Science [Python]	CBSE		
12	Physical Education and Health-XI	SARASWATI		
13	Record Physical Education-XI	EVERGREEN		
14	English practice paper -XI	[ARIHANT/OXFORD]		
15	Exemplar Mathematics-XI	NCERT		
16	Exemplar Physics-XI	NCERT		*
17	Exemplar Chemistry-XI	NCERT		
18	Exemplar Biology-XI	NCERT		

1.44

DAV PUBLIC SCHOOL	CHAN	DRAS	SEKHARPUR, BHUBANESWAR
BOOKS & NOTEBOOKS	LIST	FOR	STD. XI-COMMERCE (2020-21)

NAM	IE OF STUDENT:	5	SCHOOL No.	
SL	NOTE BOOKS	Qty	PRICE/UNIT	AMOUNT
1	Long Ruled Copy [100p]	25	23.00	575.00
2	Diary	1	55.00	55.00
3	Assignment Copy	4	25.00	100.00
4	Graph Copy	2	15.00	30.00
5	D.A.V. United Magazine	1	275.00	275.00
	TOTAL-			1035.00
SI	OTHER BOOKS	PUBLICATION		AMOUNT
1	Hornbil [English]	NCERT		
2	Snap Shot [English]	NCERT		5
3	Indian Economic Development	NCERT		85.00
4	Statistics for Economics	NCERT		55.00
5	Accountancy -I NCERT		125.00	
6	Accountancy -II	NCERT		110.00
7	Business Studies	NCERT		115.00
8	Mathematics	NCERT		180.00
9	English Practice paper-XI	[ARIHANT/OXFORD]		
10	Physical Education and Health-XI	SARASWATI		
11	Record Physical Education-XI	EVERGREEN		
12	Exemplar Mathematics-XI	NCERT		

	DAV PUBLIC SCHOOL CHA	ANDRASE	EKHARPUR, BHU	JBANESWAR
7	BOOKS & NOTEBOOKS LIST			*
NAM	IE OF STUDENT:	~	SCHOOL No.	
SL	NOTE BOOKS	Qty	PRICE/UNIT	AMOUNT
1	Long Ruled Copy [100p]	25	23.00	575.00
2	Diary	1	55.00	55.00
3	Assignment Copy	4	25.00	100.00
4	SUPW Copy	2	15.00	30.00
5	D.A.V. United Magazine	1	275.00	275.00
	TOTAL-			1035.00
SI	OTHER BOOKS	PUBLICATION		AMOUNT
1	Hornbil [English]	NCERT		
2	Snap Shot [English]	NCERT		
3	Indian Pshycology	NCERT		
4	Fundamentals of Physical Geography	NCERT		
5	Practical Work in Geography	NCERT		
6	Indian Physical Environment	NCERT		
7	Introducing Sociology	NCERT		
8	Understanding Sociology	NCERT		
9	Indian Costitution Work	NCERT		
10	Political Theory	NCERT		
11	Antara	NCERT		
12	Aroh	NCERT		
13	Vitan	NCERT		
14	Antaral	NCERT		
15	Mathematics	NCERT		
16	English Practice paper	ARIHANT/O		
17	Physical Education and Health	SARASWATI .		
18	Record Physical Education	EVERGREEN		
19	Exemplar Mathematics-XI	NCERT		

×

. 44